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Graphing Exponential and Logarithmic Functions

Graph the following Exponential Functions.

Name:

1. y=2¢3_ 2. y=3(%)x_ +1 3. y:%(z)x_1_4
HA: Y=\ HA: Y=\ HA- Y = -4
Ywnt (O,:l') Y-int: (0,2.408715) \I-\n+:(0\‘3.153
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Graphing Log Functions

9. y =log, (x+1)+2 10.  y=log,(x+3)-2
PG 104,X = Lot
Tzwgz.icﬁ‘ FG: ¥t

T: gown 2_'\e(:+3
VA: k= -3
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11.  y=logs(x—2)+3 12 y=-1+logs(x+2)
PG: y=l0g4 % PG ‘f:lojslé
T wp 3, ﬁjk‘f yA T down \} lef4 2
VA: X=2 C Y =
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Equations: 3=a(/’r>t y:“(["")t— A:P( |+{";) A:P€H:

13.) A substance decays 22% each day. After 7 days, there are 9 milligrams of the substance remaining. How
many milligrams were there initially?

(=012 +=7 9¢9 a="7 4= a(1-o. 22\%
Q=a(o®)" |
5¢2mj\ a<51.2

14.) Sam opened a bank account with an interest rate of 4.8% that is compounded annually. He invested $3,890
in the account in 1999 but had to make a withdrawal from his account in 2007 in the amount of $2,300 with no

enalty. How much money is in his account now, in 2016? %) &
P 1 A- 3390(1+2245)" <2007

004‘3 ((a
A= 32005V (1545 2 5(0.3)
D - 2300
[ $5124.20 | TR

15.) The number n of college graduates in thousands after t years can be modeled by n = 46log5 (t + 3).
Let t = 0 represent 1985. (a) How many college graduates were there in 2003? (b) How long until there are

123,000 college graduates? When will this occur?
(@) +=(8 () 123=4b 1095 (£ ) 207D
n=Holog5(17+2) 2u1- 1) g

E3 %ousanaﬂ/ Y, 1.4 = 5+ +40
= %06 years [ater

16.) In 1990, the population of New York State was 7.99 million. The population grows at a rate of 2.3%. When

will New York's population reach 15 million people? 55 0.023E
ot _ 0.073t | e
A:Pe |5= rch |nl.gg = 0-023¢
t=27

17.) You have $1000 that you want to invest for 5 years before you use the money towards a large purchase.
Your bank offers a compound interest rate of 3% compounded monthly or an annual compound interest rate of
4.7%. Assuming that you will leave the money in for 5 years, what is the best Way to invest with your bank?
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